

On projective regular representations of discrete groups and their infinite tensor products

Tania-Luminița Costache, Mariana Zamfir, Mircea Olteanu

Abstract. The goal of this paper is to study the regular projective representations of a discrete group G on a Hilbert space H ([9]). We describe the commuting algebras of the right, respectively left regular projective representations and present the existence theorem for infinite tensor products of projective representations proved by E. Bédos and R. Conti in [2].

M.S.C. 2010: 20C25.

Key words: regular projective representation, multiplier, tensor product of projective representations.

1 Introduction and preliminaries

In the first part of this paper we remind the basic notions of a multiplier on a discrete group, a projective representation of a discrete group and a left, respectively right regular projective representation. In Section 2 we present the description of the commuting algebra of the regular projective representation with the multiplier ω given by Kleppner in [9]. Bédos and Conti initiated the study of infinite tensor products of projective representations of a discrete group in [2]. In Section 3 we prove Bédos and Conti's existence theorem for infinite tensor product of projective representations of a discrete group.

Definition 1.1. ([9]) Let G be a discrete group and let \mathbb{T} be the group of complex numbers of modulus one. A *multiplier* ω on G is a function $\omega: G \times G \rightarrow \mathbb{T}$ with the properties:

- i) $\omega(x, e) = \omega(e, x) = 1$ for all $x \in G$;
- ii) $\omega(x, y)\omega(xy, z) = \omega(x, yz)\omega(y, z)$ for all $x, y, z \in G$.

If $\omega(x, x^{-1}) = 1$ for all $x \in G$, then the multiplier ω is called *normalized*.

Remark 1.1. ([9]) If ω is normalized, then $\omega(x, y)^{-1} = \omega(y^{-1}, x^{-1})$ for all $x, y \in G$.

Definition 1.2. ([9]) A *projective representation* of G on a Hilbert space H with the associated multiplier ω (more precisely, a unitary ω -representation) is a map $\pi: G \rightarrow \mathcal{U}(H)$, where $\mathcal{U}(H)$ is the group of unitary operators on H , such that

- i) $\pi(x)\pi(y) = \omega(x, y)\pi(xy)$ for all $x, y \in G$;
- ii) $\pi(e) = I_H$, where I_H is the identity operator on H .

Definition 1.3. ([9]) Let ω be a multiplier on G . The map $R^\omega: G \rightarrow \mathcal{U}(l^2(G))$ defined by $R_s^\omega f(x) = \omega(x, s)f(xs)$ for all $x \in G$ and $f \in l^2(G)$ is an ω -representation of G called *the right regular ω -representation of G* . The map $L^\omega: G \rightarrow \mathcal{U}(l^2(G))$ defined by $L_s^\omega f(x) = \omega(x^{-1}, s)f(s^{-1}x)$ for all $x \in G$ and $f \in l^2(G)$ is an ω -representation of G called *the left regular ω -representation of G* .

2 The commuting algebra of regular projective representations

In this section we consider that ω is a normalized multiplier on G and θ_x is the characteristic function of the point x , for each $x \in G$. In what follows we shall be interested in the right regular ω -representation and the left regular ω^{-1} -representation, which we shall denote by R and L respectively. We have:

$$\begin{aligned} R_s f(x) &= \omega(x, s)f(xs) \\ L_s f(x) &= \omega(x^{-1}, s)^{-1}f(s^{-1}x) = \omega(s^{-1}, x)f(s^{-1}x) \\ (2.1) \quad R_s \theta_x &= \omega(xs^{-1}, s)\theta_{xs^{-1}} = \omega(x, s^{-1})^{-1}\theta_{xs^{-1}} = \omega(s, x^{-1})\theta_{xs^{-1}} \\ (2.2) \quad L_s \theta_x &= \omega(x^{-1}s^{-1}, s)\theta_{sx} = \omega(x^{-1}, s^{-1})\theta_{sx} = \omega(s, x)^{-1}\theta_{sx}. \end{aligned}$$

Note that R and L commute for

$$\begin{aligned} L_t R_s f(x) &= \omega(t^{-1}, x)R_s f(t^{-1}x) = \omega(t^{-1}, x)\omega(t^{-1}x, s)f(t^{-1}xs) = \\ &= \omega(x, s)\omega(t^{-1}, xs)f(t^{-1}xs) = \omega(x, s)L_t f(xs) = R_s L_t f(x). \end{aligned}$$

In general, the left and right regular ω -representations do not commute.

Definition 2.1. ([9]) Let T be a linear operator $l^2(G)$ and let f_T be the function $x \rightarrow (T\theta_e, \theta_x) = T_{x,e}$, where $(T_{x,y})$ is the matrix of the operator T with the entries $T_{x,y} = (T\theta_y, \theta_x)$ such that $T\theta_y = \sum_{x \in G} T_{x,y}\theta_x$.

Lemma 2.1. ([9]) *Let T be a bounded linear operator on $l^2(G)$. Then:*

a) $T \in \mathcal{R}(R, R)$ (the commuting algebra of the right regular ω -representations) if and only if

$$(2.3) \quad T_{x,y} = \omega(x, y^{-1})f_T(xy^{-1}), \quad \forall x, y \in G.$$

b) $T \in \mathcal{R}(L, L)$ (the commuting algebra of the left regular ω^{-1} -representations) if and only if

$$(2.4) \quad T_{x,y} = \omega(y^{-1}, x)f_T(y^{-1}x), \quad \forall x, y \in G.$$

Proof. Suppose that $T \in \mathcal{R}(R, R)$. By Definition 1.1, relation (2.1) and Remark 1.1, we obtain:

$$\begin{aligned} T_{x,y} &= (T\theta_y, \theta_x) = (T\omega(e, y)^{-1}\theta_{ey}, \theta_x) = (TR_{y^{-1}}\theta_e, \theta_x) = (R_{y^{-1}}T\theta_e, \theta_x) \\ &= (T\theta_e, R_y\theta_x) = (T\theta_e, \omega(y, x^{-1})\theta_{xy^{-1}}) = (T\theta_e, \omega(x, y^{-1})^{-1}\theta_{xy^{-1}}) \\ &= \omega(x, y^{-1})(T\theta_e, \theta_{xy^{-1}}) = \omega(x, y^{-1})f_T(xy^{-1}). \end{aligned}$$

Conversely, if a) is satisfied, then, by relation (2.1), for each $s \in G$, we have:

$$(2.5) \quad \begin{aligned} (TR_s)_{x,y} = (TR_s\theta_y, \theta_x) &= (T\omega(s, y^{-1})\theta_{ys^{-1}}, \theta_x) = \omega(s, y^{-1})(T\theta_{ys^{-1}}, \theta_x) \\ &= \omega(s, y^{-1})T_{x,ys^{-1}} = \omega(s, y^{-1})\omega(x, sy^{-1})f_T(xsy^{-1}). \end{aligned}$$

By relation (2.1) and Definition 1.1, we obtain:

$$(2.6) \quad \begin{aligned} (R_sT)_{x,y} &= (R_sT\theta_y, \theta_x) = (T\theta_y, R_{s^{-1}}\theta_x) = (T\theta_y, \omega(x, s)^{-1}\theta_{xs}) \\ &= \omega(x, s)(T\theta_y, \theta_{xs}) = \omega(x, s)T_{xs,y} = \omega(x, s)\omega(xs, y^{-1})f_T(xsy^{-1}) \\ &= \omega(x, sy^{-1})\omega(s, y^{-1})f_T(xsy^{-1}). \end{aligned}$$

From (2.5) and (2.6), it results that $(TR_s)_{x,y} = (R_sT)_{x,y}$, $\forall x, y \in G$, so $T \in \mathcal{R}(R, R)$. Suppose now that $T \in \mathcal{R}(L, L)$. Using (2.2) and Definition 1.1, we obtain:

$$\begin{aligned} T_{x,y} &= (T\theta_y, \theta_x) = (T\omega(e, y)^{-1}\theta_{ye}, \theta_x) = (TL_y\theta_e, \theta_x) \\ &= (L_yT\theta_e, \theta_x) = (T\theta_e, L_{y^{-1}}\theta_x) = (T\theta_e, \omega(y^{-1}, x)^{-1}\theta_{y^{-1}x}) \\ &= \omega(y^{-1}, x)(T\theta_e, \theta_{y^{-1}x}) = \omega(y^{-1}, x)f_T(y^{-1}x), \end{aligned}$$

so we proved (2.4). Conversely, assume that (2.4) is satisfied. For each $s \in G$, using (2.2), we infer:

$$(2.7) \quad \begin{aligned} (TL_s)_{x,y} &= (TL_s\theta_y, \theta_x) = \omega(s, y)^{-1}(T\theta_{sy}, \theta_x) \\ &= \omega(s, y)^{-1}T_{x,sy} = \omega(s, y)^{-1}\omega((sy)^{-1}, x)f_T((sy)^{-1}x) \\ &= \omega(s, y)^{-1}\omega(y^{-1}s^{-1}, x)f_T(y^{-1}s^{-1}x). \end{aligned}$$

By Definition 1.1 and (2.2), we obtain:

$$(2.8) \quad \begin{aligned} (L_sT)_{x,y} &= (L_sT\theta_y, \theta_x) = (T\theta_y, L_{s^{-1}}\theta_x) = (T\theta_y, \omega(s^{-1}, x)^{-1}\theta_{s^{-1}x}) \\ &= \omega(s^{-1}, x)(T\theta_y, \theta_{s^{-1}x}) = \omega(s^{-1}, x)T_{s^{-1}x,y} \\ &= \omega(s^{-1}, x)\omega(y^{-1}, s^{-1}x)f_T(y^{-1}s^{-1}x) \\ &= \omega(y^{-1}, s^{-1})\omega(y^{-1}s^{-1}, x)f_T(y^{-1}s^{-1}x) \\ &= \omega(s, y)^{-1}\omega(y^{-1}s^{-1}, x)f_T(y^{-1}s^{-1}x). \end{aligned}$$

From (2.7) and (2.8), it results that $(L_sT)_{x,y} = (TL_s)_{x,y}$, so $T \in \mathcal{R}(L, L)$. \square

Theorem 2.1. ([9]) *Let ω be a normalized multiplier on the discrete group G . The commuting algebras of the right regular ω -representation and the left regular ω^{-1} -representation are the commutants of each other.*

Proof. Because R and L commute, $\mathcal{R}(R, R)' \subset \mathcal{R}(L, L)$. Suppose $T \in \mathcal{R}(R, R)$ and $S \in \mathcal{R}(L, L)$. Then, by Lemma 2.1 and Definition 2.1, we have

$$(TS)_{x,y} = \sum_{z \in G} T_{x,z}S_{z,y} = \sum_{z \in G} \omega(x, z^{-1})\omega(y^{-1}, z)f_T(xz^{-1})f_S(y^{-1}z)$$

and

$$(2.9) \quad (ST)_{x,y} = \sum_{z \in G} S_{x,z} T_{z,y} = \sum_{z \in G} \omega(z^{-1}, x) \omega(z, y^{-1}) f_S(z^{-1}x) f_T(zy^{-1}).$$

In (2.9) we take $z = xz^{-1}y$ and we obtain:

$$(2.10) \quad \begin{aligned} (ST)_{x,y} &= \sum_{z \in G} \omega(y^{-1}zx^{-1}, x) \omega(xz^{-1}y, y^{-1}) f_S(z^{-1}x) f_T(zy^{-1}) \\ &= \sum_{z \in G} \omega(y^{-1}zx^{-1}, x) \omega(xz^{-1}y, y^{-1}) f_S(y^{-1}zx^{-1}x) f_T(xz^{-1}yy^{-1}) \\ &= \sum_{z \in G} \omega(y^{-1}zx^{-1}, x) \omega(xz^{-1}y, y^{-1}) f_S(y^{-1}z) f_T(xz^{-1}). \end{aligned}$$

On the other hand, by Definition 1.1 and Remark 1.1, we have

$$(2.11) \quad \begin{aligned} \omega(y^{-1}zx^{-1}, x) \omega(xz^{-1}y, y^{-1}) &= \omega(x^{-1}, xz^{-1}y)^{-1} \omega(y, y^{-1}zx^{-1})^{-1} \\ &= \omega(x^{-1}, x)^{-1} \omega(x^{-1}x, z^{-1}y)^{-1} \omega(x, z^{-1}y) \omega(y, y^{-1})^{-1} \\ &= \omega(x^{-1}, x)^{-1} \omega(e, z^{-1}y)^{-1} \omega(x, z^{-1}y) \omega(y, y^{-1})^{-1} \omega(e, zx^{-1})^{-1} \omega(y^{-1}, zx^{-1}) \\ &= \omega(x^{-1}, x)^{-1} \omega(x, z^{-1}y) \omega(y, y^{-1})^{-1} \omega(y^{-1}, zx^{-1}) \\ &= \omega(x, z^{-1}y) \omega(y^{-1}, zx^{-1}) \omega(x^{-1}, x) \omega(y, y^{-1}) \\ &= \omega(x, z^{-1}y) \omega(y^{-1}, zx^{-1}) = \omega(x, z^{-1}y) \omega(y^{-1}, zx^{-1}) \omega(z^{-1}, y) \omega(z^{-1}, y)^{-1} \\ &= \omega(x, z^{-1}y) \omega(y^{-1}, zx^{-1}) \omega(z^{-1}, y) \omega(y^{-1}, z) \\ &= \omega(x, z^{-1}y) \omega(z^{-1}, y) \omega(y^{-1}, zx^{-1}) \omega(y^{-1}, z) \\ &= \omega(x, z^{-1} \omega(xz^{-1}, y) \omega(y^{-1}, zx^{-1}) \omega(y^{-1}, z) \\ &= \omega(x, z^{-1}) \omega(y^{-1}, zx^{-1})^{-1} \omega(y^{-1}, zx^{-1}) \omega(y^{-1}, z) = \omega(x, z^{-1}) \omega(y^{-1}, z). \end{aligned}$$

Using (2.11) in (2.10), we obtain:

$$(ST)_{x,y} = \sum_{z \in G} \omega(x, z^{-1}) \omega(y^{-1}, z) f_T(xz^{-1}) f_S(y^{-1}z) = (TS)_{x,y}.$$

Hence T and S commute and we have $\mathcal{R}(L, L) \subset \mathcal{R}(R, R)'$. \square

3 Infinite tensor products of projective representations

For $i = 1, 2$, let π_i be an ω_i -representation of G on a Hilbert space H_i . The tensor product representation $\pi_1 \otimes \pi_2$ is an $\omega_1 \omega_2$ -representation of G on the Hilbert space $H_1 \otimes H_2$.

In the case of ordinary unitary representations of a group, it is known a classical result of Fell that the left regular representation acts in an absorbing way with respect to tensoring (up to multiplicity and equivalence). In the projective case we have the following analogue:

Proposition 3.1. ([2]) Let ω_1, ω_2 two multipliers on the discrete group G and let π be an ω_2 -representation of G on a Hilbert space H . Then the tensor product representation $L^{\omega_1} \otimes \pi$ is unitarily equivalent to $L^{\omega_1 \omega_2} \otimes I_H$.

Proof. In the same way as in the nonprojective case the unitary operator that gives the unitarily equivalence is

$$U: l^2(G) \otimes H (\simeq l^2(G, H)) \rightarrow l^2(G, H)$$

defined by $U(f \otimes h)(x) = f(x)\pi(x^{-1})h$. □

Let $H = (H_i)$ denote a sequence of Hilbert spaces and let $\xi = (\xi_i)$ be a sequence of unit vectors where $\xi_i \in H_i$ for each $i \geq 1$. We denote by $H^\xi = \bigotimes_i^\xi H_i$ the associated infinite tensor product Hilbert space of the H_i 's along the sequence ξ .

Theorem 3.1. ([2]) Let (π_i) be a sequence of ω_i -representations of G acting respectively on the Hilbert spaces H_i and let $\xi = (\xi_i)$ be a sequence of unit vectors where each $\xi_i \in H_i$. Assume that $\otimes_i \pi_i(x)$ exists on H^ξ , for each $x \in G$. Then:

- i) the map $x \mapsto \pi^\xi(x) := \otimes_i \pi_i(x)$ is an $\omega = \prod_i \omega_i$ -representation of G on H^ξ ;
- ii) if there is one k such that π_k is unitarily equivalent to L^{ω_k} , then π^ξ is unitarily equivalent to $L^\omega \otimes I_H$, for some Hilbert space H ;
- iii) $L^1 \otimes \pi^\xi$ is unitarily equivalent to $L^\omega \otimes I_{H^\xi}$, where L^1 is the left regular representation of G .

Proof. i) We have

$$\begin{aligned} \pi^\xi(x)\pi^\xi(y) &= (\otimes_i \pi_i(x))(\otimes_i \pi_i(y)) = \otimes_i \pi_i(x)\pi_i(y) = \otimes_i \omega_i(x, y)\pi_i(xy) \\ &= \prod_i \omega_i(x, y) \otimes_i \pi_i(xy) = \omega(x, y)\pi^\xi(xy), \quad \forall x, y \in G \end{aligned}$$

The assertions ii) and iii) follow from Proposition 3.1. □

References

- [1] C. T. Aage, J. N. Salunke, *Some fixed points theorems in generalized D^* -metric spaces*, Appl. Sci., 12 (2010), 1-13.
- [2] E. Bédos, R. Conti, *On infinite tensor products of projective unitary representations*, Rocky Mountain J. Math., 34, 2 (2004), 467-493.
- [3] T.-L. Costache, *A survey on dilations of projective isometric representations*, Surveys in Mathematics and its Applications 3 (2008), 195-209.
- [4] T.-L. Costache, *Extensions on twisted crossed products of completely positive invariant projective u -covariant multi-linear maps*, BSG Proc. 17, Geometry Balkan Press, Bucharest 2010, 56-67.
- [5] R. Dirl, *Induced projective representations*, J. Math. Phys., 18, 10 (1977), 2065-2079.

- [6] M. Joița, T.-L. Costache and M. Zamfir, *Dilations on Hilbert C^* -modules for C^* -dynamical systems*, BSG Proc. 14, Geometry Balkan Press, Bucharest 2007, 81-86.
- [7] G. Karpilovsky, *Projective representations of finite groups*, Marcel-Dekker 1985.
- [8] A. Kleppner, *Continuity and measurability of multiplier and projective representations*, J. Funct. Analysis 17 (1974), 214-226.
- [9] A. Kleppner, *The structure of some induced representations*, Duke Math. J. 29 (1962), 557-572.
- [10] I. Meghea, *Some results obtained in dynamical systems using a variational calculus theorem*, BSG Proc. 16, Geometry Balkan Press, Bucharest 2009, 91-98.
- [11] M. Olteanu, T.-L. Costache, M. Zamfir, *An algorithm for computing the spectra of multiplication systems*, BSG Proc. 14, Geometry Balkan Press, Bucharest 2007, 126-130.
- [12] M. Olteanu, T.-L. Costache, M. Zamfir, *The spectra of a class of convolution operators*, BSG Proc. 16, Geometry Balkan Press, Bucharest 2009, 108-113.
- [13] D. Williams, *Crossed Products of C^* -algebras*, Mathematical Surveys and Monographs 134, AMS, Providence 2007.

Authors' addresses:

Tania-Luminița Costache, Mircea Olteanu
Faculty of Applied Sciences, Department of Mathematics,
University Politehnica of Bucharest, RO-060042 Bucharest, Romania.
E-mail: lumycos1@yahoo.com , mirolteanu@yahoo.co.uk

Mariana Zamfir
Department of Mathematics and Computer Science,
Technical University of Civil Engineering Bucharest, Bucharest, Romania.
E-mail: zamfirvmariana@yahoo.com